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Section 1 Section 3 Section 5 Section 7

Find the missing numbers: T have 36 sweets. I What time is the clock showing? Write down 3 facts about rectangles.
share them between

33+ 29 = 45 + [:] my 2 friends. How

many will they each

[:]+ 27 = 43 + 12 have?

Section 2
What’s my number?

? ? ? Section 6

o e o
. Write these numbers in words: .
Section 4 Section 8
Make £3.78 using the 534 A shopkeeper puts 6 apples in one basket. How
Tam even. fewest number of coins. many baskets will he need for 20 apples?

Thave 3 digits.

My tens digit is the same as

16 + 4.

My ones digit is the same as

My hundreds digit is the same Now write these words in numbers:

as 30 = 5.

Six hundred and twenty-one
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Section 1

Use the correct sign < or > to make these true:

10 20 3 8

Section 4
Which number is the odd one out?
Explain how you know.

16 18

Section 5
Jas eats half of the pizza. What fraction
of the pizza is left?

&2

Section 2
What are the missing numbers?

2 4 6 |10

Section 6

Dance class starts at 9 o'clock. The class lasts for an hour. What
time will it finish?

Section 7

How much juice is in the jug?

Section 3

Zac has 12 new felt-ips. Harry has 8
more. How many felt-tips has

Harry got?

| -

Section 8
Are these correct? If not, can you make
them right?

1M+4=20

13+7=20
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Section 1

Use the correct sign < or > to make these true:

212 120 103 D 301

Section 4
Which number is the odd one out?
Explain how you know.
140 822
214
301 996

Section 5
Pippa eats 7 of a pizza. Her brother eats
£ of the pizza. What fraction of the

&2

Section 2
What are the missing numbers?

21 | 18 12 |

Section 6
Dance class starts at half past 9. It takes Z of an hour to get
there. What time does Kim need to set off, to get there on time?

Section 7

I one glass holds 40ml of juice, how many glasses of juice can
be poured out?

Section 3
Hannah has 39 lipsticks.

Beth has 27 more. How many has
Beth got?

i

Section 8
Are these correct? If not, can you make
them right?

119+21=138
67 —42=25

98-39=54
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Section 1 Section 3 Section 5 Section 6
Fill in the missing boxes. What number would the arrow be Draw a line of symmetry on each shape. Put a circle around all

pointing to? the words that
-] | e

(\’ minus
- subtract

bx2 total
EEM mltiply

sum of

Write the last division number less than

altogether
sentence in the pattern:

add

N |l ey

N - Kalim is saving up to buy a toy
Velociraptor. He needs £24. He has £12.
How much more does he need to save?

Section 2

T think of a rumber. Section 7 Section 8

A gardener plants 5 rows of Name 3 things you might see
T double it. daffodil bulbs, and plants 6 in which are the shape of a cuboid.
I subtract 4 each row. How many daffodils

will they have?
My answer is 8

What was the number I was

thinking of?
] ]
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Section 1 Section 2
There are 16 cars in a car park. Put these numbers in order, smallest to largest:

Half of them are white. How 5 17 8
many of them are white?

Section 3

This table shows the number of girls and boys who have pets, in
one class. Find the total number of children who have a dog, and
how many children have a cat.

| Pet i Boys

| Dog 7

| Cat 6

Section 4 Section 5

Draw the hands on the clock to What 2D shape are the faces of a cube?
show this time:

Section 7

Write your own number sentence which has the same answer as.

20-4= | 13+5=|

Section 6

Thave these coins:

®eS®

Do I have enough to buy a lolly for 25p?

Section 8

What 2 shapes will come next in the pattern?

How do you know?

[CETAIO
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Section 3
This table shows the number of girls and boys who have pets, in
Class 2A. Show the numbers as a tally.

Section 1 Section 2

There are 16 cars in a car park. Put these numbers in order, smallest to largest:

+ of them are white. How many 82 28 18 48 89
are not white?

Pet Girls Tally Boys Tally

Dog 13 10

Cat 7

Rabbit

Section 4 Section 5

Draw the hands on the clock to What 2D shape is at the ends of a cylinder?
show this time:

Section 7

Fill in the missing numbers

4x2=10- 15+3=15-
Section 6 . L]

I have a pound coin

Tbuy a lolly for 25p.

How much change will I be given?

Section 8

What 2 shapes will come next in the pattern?

Which coins could I be given in change?

elel=| [ |





